| | ’ | 3 4 5 6 ] 3

W6 N0 £70910807-1/2| Third Angle Projection - Mode ! No. Mox Appli. Motor Terminol Symbol | toutin s e
Dimensions In mm A to [ utput Corrent (A) Heavy Duty (kW) [NPUT QUTPUTCMOTOR) [nfernal ENC Filter(C3)
#:A to /  [MMOMOOOD - OO0 9] 1 RILLS/ID T3 [ WL WL WIS | 2 25
Digital 4 Mounting Holes
Operator for M6 Screws 5 3
- 45 165 (45) ‘
[@N]
/f N = =— ot 1\L
Al
o =
s
oo
%5 = g
aQo
Do 0O
b b \
|
]
> | 6
U a0 9
——es ‘o ——
max . |72 | maoyx. |2
472 .5 |70 (42 .5) 2.3
255 (1.5) 280

( ( D (
o € € D € ®
— e -
C C D{ C —
° € D (C B 4g D (C D °©
; ©w§ Ba fr© Scale |4
@E{ DRWN . JMCMLAY  [TITLE CRT00 IP20 TYPE DRWN.DATE| 08/ Jan /2 | REV.
YASKAWA CHKD . A MARDEN DWG . NO. L©
SCALE --:-- APRV . J.COLREAVEY D‘MENS‘ON D‘AGRAM EZU@‘O807 fa
. 3 | 4 5 | 6 | ] | [STZE] A3




| | ’ 3 4 5 6 ] 3

WG MOt 70910807-2/2

Base Point of
Terminals Board

PXEMC Filfter
Switch
(EMC Only)

Main Terminals
with M6 Screws
‘Hex socket cap (WAF:5mm)

Main Terminals
With M8 Screws
'Hex socket cap
(WAF : 6mm)

Main Terminals
With M6 Screws
Slot(-)

206.5

220.6
(TERMINAL BOARD)

LT
(M6 Terminals)
15,7
LT
(M6 Terminals)
1 79.3
(M6 Terminals)

(M& Terminals)

135.8
(Grounding Terminals)

Y — Y — i
o e |

D)

ILY|S/L2 TI %%

olloolo
Eﬂ:ADW=

| [

ad
ad

| [

A
< €
o 10.4
2xP20.3(240.6)

~r

Grounding Terminals
with M6 Screws

33. 1 | £9.9 Phillips(+)/Hex head
50 70 (WAF: 10mm) combo

100 20
139.8 2xP20.3(=40.6)

Detail (without Front cover) Scale 2:5

@ = i L CRT00 P20 TYPE DN DATE] 08 / Jon /2 | REv.
YASKAWA o | v NG 0. @

2
SCALE --:-- APRV. | J.COLREAVEY DIMENS TON DIAGRAM EZU@‘O807?

. 3 | 4 5 | 6 | ] | [STZE] A3




	Sheet 1
	Views
	new_view_1
	右_2
	下_3

	Zones
	A1
	A2
	A3
	A4
	A5
	A6
	A7
	A8
	B1
	B2
	B3
	B4
	B5
	B6
	B7
	B8
	C1
	C2
	C3
	C4
	C5
	C6
	C7
	C8
	D1
	D2
	D3
	D4
	D5
	D6
	D7
	D8
	E1
	E2
	E3
	E4
	E5
	E6
	E7
	E8
	F1
	F2
	F3
	F4
	F5
	F6
	F7
	F8


	Sheet 2
	Views
	new_view_4
	下_5
	下_5

	Zones
	A1
	A2
	A3
	A4
	A5
	A6
	A7
	A8
	B1
	B2
	B3
	B4
	B5
	B6
	B7
	B8
	C1
	C2
	C3
	C4
	C5
	C6
	C7
	C8
	D1
	D2
	D3
	D4
	D5
	D6
	D7
	D8
	E1
	E2
	E3
	E4
	E5
	E6
	E7
	E8
	F1
	F2
	F3
	F4
	F5
	F6
	F7
	F8



